

Q5 (Rounding) Day 17 **Name:** _____

1. Look at the number below

1927

Round this number to the nearest **10, 100 and 1000**.

- Rounded to the nearest 10 = _____
 - Rounded to the nearest 100 = _____
 - Rounded to the nearest 1000 = _____
-

2. Look at the number below

6382

Round this number to the nearest **10, 100 and 1000**.

- Rounded to the nearest 10 = _____
 - Rounded to the nearest 100 = _____
 - Rounded to the nearest 1000 = _____
-

3. Look at the number below

4536

Round this number to the nearest **10, 100 and 1000**.

- Rounded to the nearest 10 = _____
 - Rounded to the nearest 100 = _____
 - Rounded to the nearest 1000 = _____
-

4. Look at the number below

19283

Round this number to the nearest **10, 100 and 1000**.

- Rounded to the nearest 10 = _____
 - Rounded to the nearest 100 = _____
 - Rounded to the nearest 1000 = _____
-

5. Look at the number below

74615

Round this number to the nearest **10, 100 and 1000**.

- Rounded to the nearest 10 = _____
 - Rounded to the nearest 100 = _____
 - Rounded to the nearest 1000 = _____
-

6. Look at the number below

36291

Round this number to the nearest **10, 100 and 1000**.

- Rounded to the nearest 10 = _____
 - Rounded to the nearest 100 = _____
 - Rounded to the nearest 1000 = _____
-

7. Look at the number below

192537

Round this number to the nearest **100, 1000 and 10000**.

- Rounded to the nearest 100 = _____
 - Rounded to the nearest 1000 = _____
 - Rounded to the nearest 10000 = _____
-

8. Look at the number below

825461

Round this number to the nearest **100, 1000 and 10000**.

- Rounded to the nearest 100 = _____
 - Rounded to the nearest 1000 = _____
 - Rounded to the nearest 10000 = _____
-

9. Look at the number below

361529

Round this number to the nearest **100, 1000 and 10000**.

- Rounded to the nearest 100 = _____
 - Rounded to the nearest 1000 = _____
 - Rounded to the nearest 10000 = _____
-

10. Look at the number below

5064908

Round this number to the nearest **1000, 10000 and 100000**.

- Rounded to the nearest 1000 = _____
 - Rounded to the nearest 10000 = _____
 - Rounded to the nearest 100000 = _____
-

11. Look at the number below

9054728

Round this number to the nearest **10000, 100000 and 1000000**.

- Rounded to the nearest 10000 = _____
 - Rounded to the nearest 100000 = _____
 - Rounded to the nearest 1000000 = _____
-

12. Look at the number below

3528160

Round this number to the nearest **10000, 100000 and 1000000**.

- Rounded to the nearest 10000 = _____
 - Rounded to the nearest 100000 = _____
 - Rounded to the nearest 1000000 = _____
-

Answers

- 1. 1930, 1900, 2000**
- 2. 6380, 6400, 6000**
- 3. 4540, 4500, 5000**
- 4. 19280, 19300, 19000**
- 5. 74620, 74600, 75000**
- 6. 36290, 36300, 36000**
- 7. 192500, 193000, 190000**
- 8. 825500, 825000, 830000**
- 9. 361500, 362000, 360000**
- 10. 5065000, 5060000, 5100000**
- 11. 9050000, 9100000, 9000000**
- 12. 3530000, 3500000, 4000000**